@ The points A, B, C, D have coordinates (-3, 14}, (1, 2, (3, 4), (3, &) respectively.
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(1) Show that AB and CD are parallel.
(i) , Find the equation of A5,

(iif) The line L passes through the point D and is perpendicuiar to 4 B. Show that L has
equation

x=2p+13=0. [l
The lines  and A8 intersect at the point £.
{) Findthecoordinates of .

(i) Calculate the length of EF, where F denotes the mid-point of 45, [6]
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@ The points 4, B, Care such that 4, B have coordinates (—4, 7}, (2, —1) respectively and Cis the
mid-point of 48, The line L is the perpendicular bisector of 48.
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Find the grad iept of 4B.. | : 2 o
Find the coordinates of C. ' 2

Show that the equation of L is

i

3x—4y+15=0 E
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The point D lies on L and has coordinates (7, &).
(1 Showthatki=9
{(iiy Find the length of C4 and the length of DA,

A
(il Heace show that the value of sin A2C may be expressed in the form TI.E;"“‘ where g
is an integer whose valoe is to be found. R
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® The points 4 and B have coordinates (2, —3) and (£, 1) respectively.
The line L has eguation x + Zy-11=
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Find the equation of 4B and. simplify your answer., ' [51 : A
Show that 4B and L are perpendicular. 1l
The lines AB and L intersect at the point €. Show that C has coordinates (5, 3). 2

F";_nd the lengths of 4 B and 4 C. Hence find the value of the constant & such that
P = s — =5 o o DO AT
4
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